[ Efficiency vs vertpos |

= 0.0%
$.009
)
9.008
(&)
$.007
_U
.006
0.005
0.004
0.003
0.002
0.001]

1.0

Ratio

0.95
1072

10 1 10 0?
TP vertr (cr%)

Efficiend

—=— _/DQM_IT__original_PUO
—«— DQM_TT_TpL_eta3_IPU
—— DQM_TT_pL_eta3_2PU
—— DOM_TT__pL _eta3 2PU

~ 0.0
9.009F---
%))
.008F---
&
D.007F---
‘©
.006F --
()
0.005F --
0.004F---
0.003F--
0.002F---
0.001F--

..............................................

..............................................

..............................................

Vs

Ratio
N
!IIII LB

0.95!

-20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0

A W I S T -
Sim. PV z (cm)




	Contents
	Page 1


